SERVICE

INFORMATION

SUBJECT: Attachment Hardware Bags

3-13

The following is a listing of the contents for hardware bags that come with different
attachments.

1/01

18" Tiller Hardware:

Part Number Description Quantity
580.59277 LH Tine Short 1
580.59278 RH Tine Short 1
311.12153 Screw M8x35 4
312.41080 Nut Self Locking M8 4
314.23084 Washer Lock 8.4 4
20" - 30" Tiller Hardware
Part Number Description Quantity
580.59275 RH Tine Long 1
580.59276 LH Tine Long 1
311.12153 Screw M8x35 4
312.41080 Nut Self Locking M8 4
314.23084 Washer Lock 8.4 4
Cutter Bar Blade Assembly
Part Number Description Quantity
922.48918 End Guards 1 pr.
580.46677 Slide With Screws 2
580.49942 Spring Blade Guard 2
563.59015 Individual Blade, Serated 2
311.11151 Screw, M8x16 8
314.21083 Super Washer M8 8
331.12530 Rivet 5.3x14 18

Page 1 of 3



1/01

Cutter Bar Drive Assembly

Part Number Description Quantity
580.47975 Warning Decal 1
311.11091 Screw M6x14 2
312.41060 Nut Self Locking M6 2
311.12152 Screw M8x30 1
312.41080 Nut Self Locking M8 1
40" Power Sweeper

Part Number Description Quantity
561.48440 Shoulder Bolt 2
312.41100 Nut Self Locking M10 3
311.12215 Screw M10x60 1
311.11090 Screw M6x10 4
311.11097 Screw M6x45 2
312.41060 Nut Self Locking M6 2
314.11130 Washer Flat 13 1
314.11170 Washer Flat 17 2
314.13064 Washer Flat 6.4 4
581.27489 Cotter Pin 2
581.90460 Adjusting Screw 2
581.90477 Spring 1
581.90480 Rubber Grip 1

Page 2 of 3



1/01

40" Dozer Blade

Part Number Decsription Quantity
311.12264 Screw 2
312.31120 Nut Low Shoulder M12 2
314.21130 Washer Flat 2
561.58305 Pin Blade 2
561.58306 Pin Angle Bracket 1
580.02052 Hair Pin 2
590.48697 Hitch Pin 1
24" & 28" Snow Throwers

Part Number Description Quantity
311.11090 Screw M6x10 2
311.11091 Screw M6x14 3
311.12093 Screw M6x20 3
312.41060 Nut Self Locking M6 3
314.21064 Super Washer 6 6
341.10030 Cotter Pin 3x20 2
552.15102 Rod Guide 1
561.42548 Block 1
561.47779 Guide Support 2
561.47785 Funnel Control Rod Short 1
561.47789 Funnel Contrl Rod Long 1
580.50533 Pin 4

Page 3 of 3



